>
A & 0l & AF 2 E A A
20189 = =& 1 3 LB HAl
2H: 230
M 20z s
& 230Ig 2= (Sl & &)
SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
E 30l =t 26,620,886 21,282,769 5,338,117
= 5,047,501 4,986,223 61,278
s 1,300,000 1,300,000 0
J| 563,112 503,045 60,067
= 600,000 0 600,000
< 3,242,489 3,156,580 85,909
S 500,000 0 500,000
Al 15,367,784 11,336,921 4,030,863
iz &8 7,928,069 4,227,929 3,700, 140
= 28,701 16,701 12,000
s 300,000 300,000 0
J| 364,962 382,995 A 18,033
= 600,000 0 600,000
< 410,960 389,860 21,100
S 500,000 0 500,000
Al 5,723,446 3,138,373 2,585,073
FaHlgt 2= 5,024,173 1,387,573 3,636,600
= 600,000 0 600,000
< 50,880 50,880 0
S 500,000 0 500,000
Al 3,873,293 1,336,693 2,536,600
E=2st2 22 314,683 308,983 5,700
101 @124l 34,833 30,183 4,650
04 JIZHHNZ2XNSE+ 34,833 30,183 4,650
O&ClgE F=HMAH 60,2403 »4H 32«23 1,446 0 1,446
O&ESK =8 ZEZHMA 60,2403 »2H 5 x23] 1,205 0 1,205
O=dl&gor, 2= HW&EA
66,630 *3H x5 »23| 1,999 0 1,999
201 L Et2A | 52,850 51,800 1,050
01 At 2teltl 19,100 18,050 1,050
Oe2 &4HF HMNESE= 1,050 0 1,050
ERANETES=2 29 402,997 351,097 51,900
206 M= Hl 2,200 1,000 1,200
1 THZ 4l 2,200 1,000 1,200
Ol =38 2¢el 1,200 0 1,200
OFAFE 7,000& *100EA 700 0 700
H=2& M 100,000 *5EA 500 0 500
401 Al HIZ 201 Y] 53,000 40,000 13,000
01 A& HI 53,000 40,000 13,000
OZFLEX(ZE) 13,000 0 13,000
405 TtabF S| 37,700 0 37,700
01 AL ESH SH 37,700 0 37,700
OSX =¢ 50,000& 504 2,500 0 2,500
OA 7¢ 320,000 =154 4,800 0 4,800
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2A: 2stlen
M 20z s
SRS EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2

oY ZzNE 6,500,000 *1H 6,500 0 6,500

OO0kl #X XA F 9,500,000 *2H 19,000 0 19,000

ODYAHHDI 1,700, 000H 2K 3,400 0 3,400

O=22H 400,000& *2H 800 0 800

O&C 20| 700,000& =14 700 0 700

g2 a0 3adE T A2 HE 3,729,000 150,000 3,579,000

£ 600,000 0 600,000

e 500,000 0 500,000

Al 2,629,000 150,000 2,479,000

401 A& HIZ 201 Y] 3,729,000 150,000 3,579,000

= 600,000 0 600,000

e 500,000 0 500,000

Al 2,629,000 150,000 2,479,000

01 A& HI 3,579,000 0 3,579,000

ORI EAEE 2 HE (L& &1-18X) 3,579,000 0 3,579,000

= 600,000 0 600,000

S 500,000 0 500,000

Al 2,479,000 0 2,479,000

Zstilz 243 1,578,255 1,517,815 60,440

= 12,000 0 12,000

J| 364,962 382,995 A 18,033

< 101,266 83,266 18,000

Al 1,100,027 1,051,554 48,473

Fatlz AXH 216,636 212,936 3,700

201 LEt2A | 55,036 51,336 3,700

01 At 2teltl 41,036 37,336 3,700

O2sto=2e 2Js =< 5,800 2,100 3,700

230z MK (EX) 96,000 66,000 30,000

< 30,300 12,300 18,000

Al 65,700 53,700 12,000

201 ¢er24| 26,000 21,000 5,000

< 11,300 6,300 5,000

Al 14,700 14,700 0

03 SAH2 I 5,000 0 5,000

OS82 o0l #HA(LSH1-TX) 3,000 0 3,000

=) 3,000 0 3,000

OFEUEE ZHHUHRII(H-HA1-TA}) 2,000 0 2,000

< 2,000 0 2,000

307 glztol & 70,000 45,000 25,000

< 19,000 6,000 13,000

Al 51,000 39,000 12,000

02 UAHFHAEEE 70,000 45,000 25,000
02018 S22 A8 HRAXR SN (LA 1-22%t

) 5,000 5,000

< 5,000 5,000




SN 2oz
Hu: 230z I8
Sell 230l 248 EEH-E)
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Hwsz
ONE=0 et NBZz s 28 (888 1-
33%t) 20,000 0 20,000
= 8,000 0 8,000
Al 12,000 0 12,000
ggEm e4Ez0Y XY RS (2X) 125,650 127,550 £1,900
pJ 81,962 99,995 118,033
Al 43,683 27,585 16,133
201 et 2 Y| 125,650 127,550 A1,900
pJ 81,962 99,995 £ 18,033
Al 43,683 27,585 16,133
03 A2 125,650 127,550 21,900
OSSMSHAXNA(LYZR, 24T27 X
2 =2e3) 125,650 127,550 A1,900
b 81,962 99,995 118,033
Al 43,683 27,585 16,133
2018 X2 23012 (¢15) X & 28,640 0 28,640
= 12,000 0 12,000
Al 16,640 0 16,640
307 212+0| & 28,640 0 28,640
= 12,000 0 12,000
Al 16,640 0 16,640
02 B2t HAAS R X 28,640 0 28,640
OXestole iz X (S8 F1-10%) 28,640 0 28,640
= 12,000 0 12,000
Al 16,640 0 16,640
SN2s W 575,641 572,541 3,100
= 16,701 16,701 0
= 123,814 120,714 3,100
Al 435,126 435,126 0
TN 2Y(2X) 335,480 332,380 3,100
= 123,814 120,714 3,100
Al 211,666 211,666 0
307 212+0| & 335,480 332,380 3,100
= 123,814 120,714 3,100
Al 211,666 211,666 0
02 BB AAS B E 335,480 332,380 3,100
ONSENZ SN2s T2y NAAY 3,100 0 3,100
= 3,100 0 3,100
S0l AE(HT) 6,889,638 6,570,217 319,421
7 1,000,000 1,000,000 0
b 112,000 112,000 0
< 595,000 595,000 0
Al 5,182,638 4,863,217 319,421
2o s Y 23 6,889,638 6,570,217 319,421
= 1,000,000 1,000,000 0
b 112,000 112,000 0
< 595,000 595,000 0




SN 250D
u: 250z NS (2Y)
el =2 IS Y 23 (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
Al 5,182,638 4,863,217 319,421
= MHEH 62,000 32,000 30,000
307 21201 & 30,000 0 30,000
02 HAHFHYANGEEE 30,000 0 30,000
oHstel= =<tHH 30,000 0 30,000
leadezsH 283,000 216,000 67,000
Il 112,000 112,000 0
= 45,000 45,000 0
Al 126,000 59,000 67,000
201 Let2dE] 152,030 103,000 49,030
Il 0 12,000 A 12,000
= 45,000 45,000 0
Al 107,030 46,000 61,030
01 ArS2t2ltl 152,030 103,000 49,030
OJIgladesd & &5 ME 15,000 27,000 A 12,000
Jl 0 12,000 A 12,000
< 15,000 15,000 0
Oxg, 88, ™I, 44 JEt S(ANEIRES) 54,030 0 54,030
OgBr+gH(Ng 2232 S FH)(AHIRE
3) 7,000 0 7,000
301 fELE A= 121,970 100,000 21,970
Il 112,000 100,000 12,000
Al 9,970 0 9,970
o=t - 2sRsSEY=S 121,970 100,000 21,970
OANE=9d E2d2 43,600 40,000 3,600
Jl 43,600 40,000 3,600
OdE, ¢, A, LMY 64,970 60,000 4,970
Jl 64,970 60,000 4,970
OJlelae3e Al 10,400 0 10,400
Jl 3,430 0 3,430
Al 6,970 0 6,970
OJIE&4ETH 2HHI(AMHEIRE2) 3,000 0 3,000
401 AIEBI L 2CHYI 9,000 13,000 A 4,000
01 A& HI 9,000 13,000 A 4,000
OJleae3 RUEX 9,000 13,000 A 4,000
ANg=ate 24 2,479,199 2,468,366 10,833
301 2ELE A= 2,431,319 2,420,486 10,833
06 ©12+t01=2/0{Hl 10,833 0 10,833
OANE=2t =92 3= 1,805,400 «6 & 10,833 0 10,833
Ngsote 29 257,258 188,536 68,722
301 LEE A S 238,038 169,316 68,722
09 BAMAHIEAS 0 800 A 800
Ostiisoet HAH5 SF(HAY) 0 800 A800
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SH: 2802
HH: 20l A5 (=)
o = s 2 23 EERED
SA-EY. B (BH) - NPAY - BES 04l & 4 p/E-T Hl D2
NVi=td - 2sRSEd= 238,038 168,516 69,522
OANE s s BEA4Z(AZ) 184,600 123,600 61,000
dEHR 23,000 24,000 A 1,000
g 1,300,000 =18 9@ 11,700 0 11,700
MNEE 1,100,000 1 +x9& 9,900 0 9,900
NP2 1,000,000 =2 x9& 18,000 0 18,000
SYEE2HE 1,000,000& x2& 83 16,000 0 16,000
HagE2HE 500,000 12 «8& 4,000 0 4,000
LEER 160,000& »3H «5& 2,400 0 2,400
ONEsaE 4UM2HE AHEE It 8,522 0 8,522
2cHE2 2E 829,046 686, 180 142,866
101 1Al 176,098 148,432 27,666
04 JIZtHZ22 s+ 176,098 148,432 27,666
o2 S(&EH) 22 7,150 0 7,150
oy 2= 328 =4
220,000& 15 »1.5% 4,950 0 4,950
RIEEE MA 328 24
220,000 x5 »2H 2,200 0 2,200
OdSHEE =4 AFY 220,000& 104 »3L 6,600 0 6,600
O&%0l 248 F2 sy
60,2403 1B« 152 x50 & 4,518 0 4,518
OO0kt 22X+ 12|
60,2403 x 1B 262 «6I & 9,398 0 9,398
401 AIEHIZ 2 I 282,200 167,000 115,200
01 A& HI 282,200 167,000 115,200
OsAdBZE AL &FSA 100,000 0 100,000
M2 Itz AT 50=F 20,000 0 20,000
I2s X 4% 10,000 0 10,000
22X o MMz XM 60,000 0 60,000
=g =2 10,000 0 10,000
OZ3SFHAME &5 Y L FHAL 15,200 0 15,200
=t 600,000& 102 6,000 0 6,000
B 2,000, 000% * 14 2,000 0 2,000
B O 2 et 60,0003 *120E 7,200 0 7,200
M BEES 11,740,141 10,421,585 1,318,556
= 5,018,800 4,969,522 49,278
J| 86,150 8,050 78,100
S 2,236,529 2,171,720 64,809
Al 4,398,662 3,272,293 1,126,369
SE 23N EEFH 11,514,341 10,195,785 1,318,556
= 5,003,800 4,954,522 49,278
J| 86,150 8,050 78,100
< 2,168,699 2,103,890 64,809
Al 4,255,692 3,129,323 1,126,369




SN 20ED
M 25 2EHS
Sol SIS 2E| (el @ e)
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Husz
S5 el 353,547 333,547 20,000
201 Yute S| 63,196 43,196 20,000
02 ZZ 2l 41,526 21,526 20,000
OAN&ZHl KX 30,000 10,000 20,000
23 2el(2X) 568,294 568,294 0
< 287,294 287,294 0
Al 281,000 281,000 0
401 Al HI L 2l 480,000 480,000 0
< 240,000 240,000 0
Al 240,000 240,000 0
01 Al&H 476,148 475,536 612
O+Z2l MERE AL2EA 0 99,100 £99,100
< 0 49,550 49,550
Al 0 49,550 49,550
Ozmel 20HXI| D2 L2EA 0 99,100 £99,100
< 0 49,550 149,550
Al 0 49,550 149,550
OMSE DM 24 AL2EAM 0 99, 100 £.99,100
< 0 49,550 49,550
Al 0 49,550 149,550
OLEANY oy U 24 FUHSIN 0 19,784 £ 19,784
< 0 9,802 £9,892
Al 0 9,892 £9,892
OL® R329 F2tel D22 AL2IA
320,000, 000! *99. 28% 317,696 0 317,696
< 158,848 0 158,848
Al 158,848 0 158,848
03 A& S TjH| 3,852 4,464 ~612
Ox#2l MESE ALSZA 0 900 A900
< 0 450 £ 450
Al 0 450 A 450
OFmel 20tXI| D2 LREA 0 900 A900
< 0 450 1450
Al 0 450 1450
OMSE DM 24 AL2EN 0 900 900
< 0 450 A 450
Al 0 450 A 450
OLEANS oy U 24 FUHSIN 0 216 ~216
< 0 108 £ 108
Al 0 108 £ 108
OL® R32I9 Fatel D22 AL2IA
320,000, 0008 0. 72% 2,304 0 2,304
< 1,152 0 1,152
Al 1,152 0 1,152
2NY 2 L SE2aM 24l N (2X) 6,520,000 6,350,000 170,000
= 4,564,000 4,445,000 119,000
= 978,000 952, 500 25,500
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2N
X ZH -
L= B

el

= ot

30 A0 MO
09 o ton

SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
A 978,000 952, 500 25,500
401 Al HI L 2l 4,030,000 3,860,000 170,000
= 2,821,000 2,702,000 119,000
< 604,500 579,000 25,500
Al 604,500 579,000 25,500
01 Al&H 3,937,648 3,782,648 155,000
OL@ DISAX YARE SEH2I(LBHI1-24
xt) 40,000 0 40,000
= 28,000 0 28,000
< 6,000 0 6,000
Al 6.000 0 6.000
ORE BHEAX Y2AE HUAS (LT 1-24
xt) 40,000 0 40,000
= 28,000 0 28,000
< 6,000 0 6,000
Al 6.000 0 6,000
OL® AMA 38 2EHe 2 FHIU(8
®1-243t) 40,000 0 40,000
= 28,000 0 28,000
< 6,000 0 6,000
Al 6,000 0 6,000
OH8 AMA 58 FUAS(HYTI-24R) 50,000 0 50,000
= 35,000 0 35,000
< 7,500 0 7,500
Al 7,500 0 7,500
O A HEOIDIEIHE A L 2XRS X
2 HHES, 2 S M 267,948 282,948 A 15,000
=2 187,563 198,063 ~10,500
< 40,192 42,442 A2,250
Al 40,193 42,443 A2,250
02 22l 75,000 60,000 15,000
O&=A HEOIDIEI NS L 2222 X
2 HHES, 2 S M 15,000 0 15,000
= 10,500 0 10,500
= 2,250 0 2,250
Al 2,250 0 2,250
SR SLFH(2X) 1,340,000 1,263,000 77,000
< 670,000 631,500 38,500
Al 670,000 631,500 38,500
401 A& H L 20l 1,340,000 1,263,000 77,000
< 670,000 631,500 38,500
Al 670,000 631,500 38,500
01 Al&HI 1,313,400 1,253,400 60,000
OBMY LA A4 50,000 0 50,000
< 25,000 0 25,000
Al 25,000 0 25,000
OHe 2gE 93 ¥ 0y 24 289 27,000 0 27,000
< 13,500 0 13,500
Al 13,500 0 13,500
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2N 230ED
Hu: 2N REHS
ool RERHN 2EIY CER-ED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
OZe 2280 620 dd=s 380, 120 397,120 217,000
< 190,060 198,560 £8,500
Al 190,060 198,560 £8,500
02 22l 17,000 0 17,000
OY® YD BRR HH2S 17,000 0 17,000
= 8,500 0 8,500
Al 8,500 0 8,500
ST THHOIE el (RX) 11,500 121,500 A 110,000
= 0 69,000 69,000
p] 8,050 8,050 0
= 1,035 13,335 A 12,300
Al 2,415 31,115 28,700
401 IS HI L 2T 0 110,000 A 110,000
= 0 69,000 69,000
= 0 12,300 A 12,300
Al 0 28,700 £28,700
01 Al&HI 0 110,000 A 110,000
OS24 HIIAL HA 0 40,000 £40,000
=2 0 20,000 £20,000
= 0 6,000 26,000
Al 0 14,000 A 14,000
OSaM AL &3 0 50,000 A50,000
= 0 35,000 £35,000
< 0 4,500 £ 4,500
Al 0 10,500 £10,500
OSATH ALAM &7 0 20,000 £20,000
= 0 14,000 £ 14,000
= 0 1,800 A 1,800
Al 0 4,200 £4,200
HENE SMALAY NS (2X) 72,000 73,444 A1,444
=2 36,000 36,722 AT22
< 18,000 18,361 ~361
Al 18,000 18,361 A361
201 YEr2 Y| 72,000 73,444 A1,444
= 36,000 36,722 AT22
< 18,000 18,361 A 361
Al 18,000 18,361 ~361
02 BBl 72,000 73,444 A 1,444
OMAN STHAIAE SXE% 10,600 10,662 ~62
= 5,300 5,331 A3
= 2,650 2,665 A5
Al 2,650 2,666 A 16
OBEAN STHAIAE SXS% 3,600 3,644 ~44
=2 1,800 1,822 ~22
< 900 911 AT
Al 900 911 AT
OM2A STHAIAE SXE% 6,000 6,196 A 196
= 3,000 3,098 ~98
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2N
X ZH -
L= B
el

M= e
M

m
oy ©

30 {0 MO
09 ton fon
HD

ol
0
=

ton
pa)

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hnsz

= 7500 T.549 oy

Al 1,500 1,549 ~49

OBSA STHAILE SAES 14,200 14,306 A 106

2 7,100 7,153 A3

< 3,550 3,576 ~26

Al 3,550 3,577 N2T7

OAFA STAAE SN2 6,000 6.196 ~196

2 3.000 3,008 A98

= 1,500 1,549 ~49

Al 1,500 1,549 ~49

OFSY YWALEY SAES 5,000 5,194 A 194

2 2,500 2,597 A97

= 1,250 1,299 ~49

Al 1,250 1,298 N

OHZY YTALAE ST+ 7,600 7,746 A 146

2 3.800 3.873 AT3

= 1,900 1,937 A37

Al 1,900 1,936 ~36

OU=A STHAIAE ST 7,600 7,746 A146

2 3.800 3,873 AT3

< 1,900 1,987 A37

Al 1,900 1,936 ~36

ODISY YMALE SAULS 6,000 6.196 ~196

2 3.000 3,008 A98

= 1,500 1,549 ~49

Al 1,500 1,549 ~49

OSBHA STHAIAE SXE4 5,400 5,558 A158

2 2,700 2,779 AT9

= 1,350 1,389 A39

Al 1,350 1,390 A40

JHOF 2R BBEM 1,690,000 650,000 1,040,000

201 Yer2 | 40,000 0 40,000

01 At 22l t] 40,000 0 40,000

OY®lior 2t 82 T2 NN 40,000 0 40,000

401 AIEHI L S THHI 1,650,000 650,000 1,000,000

1 A&t 1,641,558 645,005 996,553
¥ RR29 F22 DET ENMHY L F

bl 993,700 0 993,700

EXNNY % NBE 24

750,000, 0002 *99. 37% 745,275 0 745,275

L 200,000, 0002 <99 37% 198,740 0 198,740

gz b 50,000, 0002 +99. 37% 49,685 0 49,685

O+&2l MERE ANERIA 0 143,956 A143,956

OZmel 20XI D2(LRY) ANESEAM 0 84,235 £84,235

O=stet 24 AEREA 0 143,956 A143,956
OL® R329 T2 N2 AYSEAN ¥

= 375,000 0 375,000
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2N
X ZH -
L= B

el

= ot

30 A0 MO
09 o ton

SA-3H-S(3AH) - MRAS - BES Off &F o4 I E M Hns2
03 Al & = Ch bl 8,442 4,995 3,447
O=Zcl HMERZ AL=ZA 0 1,044 A 1,044
OFWel ZO0tKI N2(LRE) Alg= A 0 765 AT65
M B ANLBIA 0 1,044 A1,084
Od® s3ele 22 122 EXNHY L ¥
bl 1,000,000, 0002 0. 63% 6,300 0 6,300
S MHLNAE 25 123,000 0 123,000
| 78,100 0 78,100
< 13,470 0 13,470
Al 31,430 0 31,430
401 AIEHI L 2T bI 123,000 0 123,000
o] 78,100 0 78,100
< 13,470 0 13,470
Al 31,430 0 31,430
01 Al bl 123,000 0 123,000
OSaT MIAL Ha 40,000 0 40,000
o] 20,000 0 20,000
< 6,000 0 6,000
Al 14,000 0 14,000
OSATH YHAL &X 50,000 0 50,000
| 35,000 0 35,000
= 4,500 0 4,500
Al 10,500 0 10,500
OBAT AZAE &X 20,000 0 20,000
o] 14,000 0 14,000
= 1,800 0 1,800
Al 4,200 0 4,200
OL® MMA BFY MBS YHAL 75
AP 13,000 0 13,000
| 9,100 0 9,100
< 1,170 0 1,170
Al 2,730 0 2,730
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